EARAZROREIERT — 2 N— XBISY —F 2020538108 (&) 17EE%I5H

T A4FIL—Z C3 H>3F%—fE B R
[A&4£] 1 7% :300,000 ™ ~ 23#&:105,000 3#&:60,000H  43#%&:45,000H” . 53 :30,000 ™
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
Pl 4 5 | LTS 1:26.0 1=1-1-1 | 41.9| — 2 419 | EMEEE (BH)
1| TRVt 54.0 =) (a) | ) 7r-ZkETa>
R:hT/RI47T B:edT7UIL hid  HEER
_ o6 | EAEKX 1:26.3 7-8-10-3 |41.1| — 6 430 | EBAAREE (&)
2|8|12| M- hTL R b %53.0 (1 172) L1y | FEREAS
R:7—9T7+—Z B:RUFYIOZH ¥ T L
= N it 5 | ANENE 1:27.3 9-9-7-6 | 42.0| — 3 431 | BHREZ (SH)
3lgl11|L—F>FT7> 54.0 ) (ra) | EHEE
T2 >T7Fvoa B:vanbL—+ =Y Trp—L
R . KEHFER : —7-5-. — BIFFES (FH)
s 4| vr—my ry> i 6 5 1(.12/72.)4 8-7-5-4 | 42.4 1 ;1_647) e
R:T7HIHXL TR BT N=F2FK /e ]
3,3 i 3 | ZHESL 1:27.5 1-2-2-2 | 43.1| -— 8 402 | ITEEEF (&)
5/5/6| 772 252.0 (1/2) (+1) E??:E*s“ﬁm
Libh—t>hvLARY B:214F%F32-X FEFIL A
: =1 £ 4 | EFRFE 1:27. 1-11-11-8 | 41. - 1 434 | BfE— (&)
6l1/1|7/—7n7FRO> “*| 5.0 (1/2>6 840 0 (+31) RS

Z:aArFafy b B:2A=—FFN ILIL, YYET7—L

— o R [BLREE : -10-9- - KEZHER (&FH
d c FIEAEESACIE P 4 B A oo 42 1 f_‘g A
R:7—974—Z B:3Z3%v b J=HrTr—L
~ R . 33 - )
glsl5|EVF>ArE— i 4 fso.o 1.(218).0 3-3-3-5 |43.3 5 (4_511) i
L:xrinan— BUNTECZR #H F3
. AAH :28. —-12-12- . — Arhfh— (FH)
N DA PR o4 80 o [z A Py | mm
RNT BAAATFHIT pSEE e
S S AEEE : —5-6— - B fi— ()
10 MEZTAY S 2 it 4 Ll 1(/31;; 6-5-6-9 | 43.0 4 ?225 e
R:TSy T84 K B RyHFRHFIN =hI 405
i 5 | HERRE 1:28.6 5-6-8-10 | 43.1| — 12 406 | BIFFES] (B
11710l ¥ 7477 -0 A51.0 2 1/2) 47y | R
L:ANTz—JI B:2—%— DS
s= i it 4 | BREE 1:30.9 3-4-4-11 | 46.0| — 7 403 | EBEE— (BH)
1ol7lg | NV ETAT 54.0 (5 o) | EE
AT RS BRI TEA =Lt
® I —F—@EBIERL
13=zr= (3,6),(5,9),10,7,12,4,11,8,1,2
23—+ — 3,6,5,9,7,10,4,12,11,8,1,2
30—7+— 3,6,5,9,4,7,11,10,8,12,1,2
43—F— 3,6,12,4,5,11,8,1,7,10,9,2
[ RN
B OB 3 600 714K 3-12 1,060M e & 3-8 1,380M 3ER 3-11-12 6,210
1 B 3 200 3-11 1,090M B & 3-12 3,410 JEH 3-12-11 36,970
12 270H 11-12 1,060M B H 3-12 6,780
1 250M

ARICOVWTRDTEEERROODE. TR LI,



